INVARIANTS OF POLYNOMIAL VECTOR FIELDS

JAUME LLIBRE¹ AND CLAUDIA VALLS²

ABSTRACT. We characterize the existence of first integrals and invariants (first integrals depending on the time) for the polynomial vector fields which are invariant under an involution.

1. INTRODUCTION AND STATEMENT OF THE MAIN RESULTS

Let X be a polynomial vector field in \mathbb{R}^m of degree d + 1. Given a polynomial F(x, y), the algebraic hypersurface F(x, y) = 0 is an *invariant algebraic hypersurface* of X if there exists a polynomial K(q, p) called *the cofactor* such that XF = KF. In this paper we will assume that

$$K(x,y) = \alpha + \bar{K}(x,y),$$

being $\alpha \in \mathbb{R}$ and K(x, y) a polynomial without constant terms. It can be proved that K has degree at most d.

A function G = G(x, y) of the form $G = \exp(g/h)$ with g = g(x, y) and h = h(x, y) coprime polynomials is an *exponential factor* of the polynomial vector field X if there exists a polynomial L(x, y) called *the cofactor* such that XG = LG. The exponential factors appear when some invariant algebraic hypersurface has multiplicity larger than one, for more details see [5, 12].

In this paper we assume that

$$L(x,y) = \beta + L(x,y),$$

being $\beta \in \mathbb{R}$ and L(x, y) a polynomial without constant terms.

Given an invariant algebraic hypersurface F(x, y) = 0, the polynomial F is called a *Darboux polynomial*. The notion of Darboux polynomial was introduced by Darboux in [6] in the plane to study the existence of first integrals in polynomial systems. Since its appearance in 1878 the so-called Darboux theory has been intensively studied by many authors from different points of view, see for instance [1, 2, 3, 4, 8, 9, 13, 14, 15, 16, 17, 18]. In particular it has been developed an extension of the Darboux theory for polynomial differential systems in \mathbb{R}^m , in hypersurfaces, and so on. For a good survey on the Darboux theory we refer the reader to [10].

Let U be an open subset of \mathbb{R}^m such that its closure is \mathbb{R}^m . We say that a function $H: U \to \mathbb{R}^m$ is a *first integral* of the polynomial vector field X if XH = 0 on U. We

²⁰²⁰ Mathematics Subject Classification. Primary 34C07.

Key words and phrases. Polynomial systems, invariants, first integrals, involutions.

say that the function $I: U \times \mathbb{R} \to \mathbb{R}^m$ is an *invariant* of the polynomial vector field X if $XI + \partial_t I = 0$ on $U \times \mathbb{R}$. Note that a first integral is an invariant which does not depend on t.

Let $\tau : \mathbb{R}^m \to \mathbb{R}^m$ be an involution, i.e., $\tau \circ \tau = \text{Id}$, being Id the identity map. We say that the vector field X is τ -reversible if $\tau_*(X) = -X$, and is τ -equivariant if $\tau_*(X) = X$, where τ_* is the push-forward associated to τ .

The first main result of the paper is the following one concerning with the existence of first integrals and invariants in function of the existence of Darboux polynomials.

Theorem 1. Consider a polynomial vector field X and let τ be an involution. Let F = 0 be an invariant algebraic hypersurface of X with cofactor K. Then the following statements hold.

- (i) If X is τ-reversible, then F(F τ) is a polynomial first integral of the vector field X.
- (ii) If X is τ -reversible, $\alpha \neq 0$, $K \circ \tau = \alpha + \bar{K} \circ \tau = \alpha \bar{K}$ and F = 0 is different from $F \circ \tau = 0$, then $F/(F \circ \tau)e^{-2\alpha t}$ is an invariant of the vector field X.
- (iii) If X is τ -equivariant, $K \circ \tau = K$ and F = 0 is different from $F \circ \tau = 0$, then $F/(F \circ \tau)$ is a rational first integral of the vector field X.
- (iv) If X is τ -equivariant, $\alpha \neq 0$ and $K \circ \tau = \alpha + \bar{K} \circ \tau = \alpha \bar{K}$ then $F(F \circ \tau)e^{-2\alpha t}$ is an invariant of the vector field X.

The proof of Theorem 1 is given in section 4. Statements (i) and (iii) of Theorem 1 for the particular case of X being a Hamiltonian vector field and the involution τ is either $\tau(x, y) = (x, -y)$ or $\tau(x, y) = (-x, y)$ was proved, respectively in, Theorem 2.1 and Theorem 3.1 in [11]

Let $\tau : \mathbb{R}^m \to \mathbb{R}^m$ be an involution. A polynomial vector field X is called *time-reversible with respect to* τ if it is σ -reversible with $\sigma : \mathbb{R}^m \times \mathbb{R}^m \times \mathbb{R} \to \mathbb{R}^m \times \mathbb{R$

With these two notions we can state the second main result of this paper which is a similar result as Theorem 2 in the case of time-reversibility and time-equivariance.

Theorem 2. Consider a polynomial vector field X and let τ be an involution. Let F = 0 be an invariant algebraic hypersurface of X with cofactor K. Then the following statements hold.

- (i) If X is time-reversible with respect to τ , $K \circ \tau = K$ and F = 0 is different from $F \circ \tau = 0$, then $F(F \circ \tau)$ is a polynomial first integral of the vector field X.
- (ii) If X is time-reversible with respect to τ , $\alpha \neq 0$ and $K \circ \tau = \alpha + \bar{K} \circ \tau = \alpha \bar{K}$, then $F/(F \circ \tau)e^{-2\alpha t}$ is an invariant of the vector field X.
- (iii) If X is time-equivariant with respect to τ , $K \circ \tau = K$ and F = 0 is different from $F \circ \tau = 0$, then $F/(F \circ \tau)$ is a rational first integral of the vector field X.
- (iv) If X is time-equivariant with respect to τ , $\alpha \neq 0$ and $K \circ \tau = \alpha + \bar{K} \circ \tau = \alpha \bar{K}$, then $F(F \circ \tau)e^{-2\alpha t}$ is an invariant of the vector field X.

The proof of Theorem 2 is very similar to the proof of Theorem 1 and so we omit it. We recall that statements (i) and (iii) of Theorem 2 for the particular case of X being a Hamiltonian vector field and the involution τ is either $\tau(x, y) = (x, -y)$ or $\tau(x, y) = (-x, y)$ was proved, respectively in, Theorem 2.4 and Theorem 3.3 in [11].

The third main result of this paper is a similar result to Theorem 1 in the case of existence of exponential factors instead of Darboux polynomials.

Theorem 3. Consider a polynomial vector field X and let τ be an involution. Let G be an exponential factor of X with cofactor L. Then the following statements hold.

- (i) If X is τ -reversible, $L \circ \tau = L$ and $G(G \circ \tau) \notin \mathbb{R}$, then $\log(G(G \circ \tau))$ is a rational first integral of the vector field X.
- (ii) If X is τ -reversible, $\beta \neq 0$, $L \circ \tau = \beta + \overline{L} \circ \tau = \beta \overline{L}$ and $G/(G \circ \tau) \notin \mathbb{R}$, then $\log(G/(G \circ \tau)) 2\beta t$ is an invariant of the vector field X.
- (iii) If X is τ -equivariant, $L \circ \tau = L$ and $G/(G \circ \tau) \notin \mathbb{R}$, then $\log(G/(G \circ \tau))$ is a rational first integral of the vector field X.
- (iv) If X is τ -equivariant, $\beta \neq 0$, $L \circ \tau = \beta + \overline{L} \circ \tau = \beta \overline{L}$ and $G(G \circ \tau) \notin \mathbb{R}$, then $\log(G(G \circ \tau)) 2\beta t$ is an invariant of the vector field X.

The proof of Theorem 3 is given in section 4. Finally in the case of time-reversibility and time-equivariance we have the following result also using exponential factors. The proof of such result is very similar to the proof of Theorem 3 and so we omit it.

Theorem 4. Consider a polynomial vector field X and let τ be an involution. Let G be an exponential factor of X with cofactor L. Then the following statements hold.

- (i) If X is time-reversible with respect to τ, L τ = L and G(G τ) ∉ ℝ, then log(G(G ◦ τ)) is a rational first integral of the vector field X.
- (ii) If X is time-reversible with respect to τ , $\beta \neq 0$, $L \circ \tau = \beta + \overline{L} \circ \tau = \beta \overline{L}$ and $G/(G \circ \tau) \notin \mathbb{R}$, then $\log(G/(G \circ \tau)) 2\beta t$ is an invariant of the vector field X.
- (iii) If X is time-equivariant with respect to τ , $L \circ \tau = L$ and $G/(G \circ \tau) \notin \mathbb{R}$, then $\log(G/(G \circ \tau))$ is a rational first integral of the vector field X.
- (iv) If X is time-equivariant with respect to τ , $\beta \neq 0$, $L \circ \tau = \beta + \overline{L} \circ \tau = \beta \overline{L}$ and $G(G \circ \tau) \notin \mathbb{R}$, then $\log(G(G \circ \tau)) - 2\beta t$ is an invariant of the vector field X.

We can also combine the main theorems and obtain results in the case of polynomial vector fields with Darboux polynomials and exponential factors at the same time. This is the content of the last main result of the paper.

Theorem 5. Let τ be an involution and consider a polynomial vector field X that is either τ -reversible or τ -equivariant. Let F = 0 and G be an invariant algebraic hypersurface and an exponential factor of X with cofactors K and L, respectively. If

$$\delta_1 K + \delta_2 (K \circ \tau) + \delta_3 L + \delta_4 (L \circ \tau) = s, \quad s \in \mathbb{R},$$

with $\delta_i \in \{-1, 1\}$ for i = 1, 2, 3, 4 and

$$F^{\delta_1}(F \circ \tau)^{\delta_2} G^{\delta_3}(G \circ \tau)^{\delta_4} \notin \mathbb{R},$$

then

$$I = F^{\delta_1} (F \circ \tau)^{\delta_2} G^{\delta_3} (G \circ \tau)^{\delta_4} e^{-st}$$

is an invariant if $s \neq 0$ and a first integral if s = 0.

We provide examples of statements (i)-(iv) in Theorems 1 and 3 in section 2. In this way we are showing that these theorems are not empty. Examples of statements (i)-(iv) in Theorems 2 and 4 can be obtained in a similar way.

We want to stress that the main theorems Theorem 1–5 can be extended without any modification to polynomial vector fields of \mathbb{C}^m instead of \mathbb{R}^m .

2. Examples

Consider the polynomial vector field

$$\dot{x} = 2y^3, \quad \dot{y} = x.$$

Note that this vector field is τ -reversible with $\tau(x, y) = (-x, y)$. Moreover $F(x, y) = x - y^2 = 0$ is an invariant algebraic curve with cofactor K(x, y) = -2y. Note that $K \circ \tau = K$. Then in view of Theorem 1(i) we have that $H = (x - y^2)(x + y^2)$ is a first integral of the polynomial vector field.

Consider now the polynomial vector field

$$\dot{x} = x^2 - 1, \quad \dot{y} = 1.$$

Note that this vector field is τ -reversible with $\tau(x, y) = (-x, -y)$. Moreover F(x, y) = x - 1 = 0 is an invariant algebraic curve with cofactor K(x, y) = 1 + x. Note that $\alpha = 1, K \circ \tau = 1 - x$ and F = x - 1 = 0 is different from $F \circ \tau = 1 + x = 0$. Then in view of Theorem 1(ii) we have that $I = (x - 1)e^{-2t}/(x + 1)$ is an invariant of the polynomial vector field.

Take the polynomial vector field

$$\dot{x} = 4x, \quad \dot{y} = 2y.$$

Note that this vector field is τ -equivariant with $\tau(x, y) = (-x, y)$. Moreover $F(x, y) = x - y^2 = 0$ is an invariant algebraic curve with cofactor K(x, y) = 4. Note that $K \circ \tau = K$ and that $F = x - y^2 = 0$ is different from $F \circ \tau = x + y^2 = 0$. Then in view of Theorem 1(iii) we have that $H = (x - y^2)/(x + y^2)$ is a first integral of the polynomial vector field.

Consider the polynomial vector field

$$\dot{x} = x, \quad \dot{y} = 1.$$

Note that this vector field is τ -equivariant with $\tau(x, y) = (-x, y)$. Moreover F(x, y) = x = 0 is an invariant algebraic curve of the polynomial vector field with cofactor K(x, y) = 1. Note that $\alpha = 1$ and $K \circ \tau = 1$. Then in view of Theorem 1(iv) we have that $I = x^2 e^{-2t}$ is an invariant of the polynomial vector field.

Take the polynomial vector field

$$\dot{x} = -2y^3, \quad \dot{y} = -x.$$

Note that this vector field is τ -reversible with $\tau(x, y) = (-x, y)$. Moreover $G(x, y) = e^{x-x^2+y^4}$ is an exponential factor with cofactor $L(x, y) = -2y^3$. Note that $L \circ \tau = L$ and $G(G \circ \tau) = e^{2(y^4 - x^2)} \notin \mathbb{R}$. Then in view of Theorem 3(i) we have that $H = e^{2(y^4 - x^2)}$ is a first integral of the polynomial vector field.

Now consider the polynomial vector field

$$\dot{x} = x^2, \quad \dot{y} = 1.$$

Note that this vector field is τ -reversible with $\tau(x, y) = (-x, -y)$. Moreover $G(x, y) = e^{1/x}$ is an exponential factor with cofactor L(x, y) = -1. Note that $\beta = -1$, $L \circ \tau = -1$ and $G/(G \circ \tau) = e^{2/x} \notin \mathbb{R}$. Then in view of Theorem 3(ii) we have that $I = \frac{2}{x} + 2t$ is an invariant of the polynomial vector field.

Take the polynomial vector field

$$\dot{x} = 2xy, \quad \dot{y} = 1 - y^2.$$

Note that this vector field is τ -equivariant with $\tau(x, y) = (-x, y)$. Moreover $G(x, y) = e^{x-xy^2+y^3}$ is an exponential factor with cofactor $L(x, y) = -y^2(y^2 - 1)$. Note that $L \circ \tau = L$ and $G/(G \circ \tau) = e^{2x-2xy^2} \notin \mathbb{R}$ Then in view of Theorem 3(iii) we have that $H = e^{2x(1-y^2)}$ is a first integral of the polynomial vector field.

Finally consider the polynomial vector field

$$\dot{x} = x, \quad \dot{y} = 1.$$

Note that this vector field is τ -equivariant with $\tau(x, y) = (-x, y)$. Note that $G(x, y) = e^y$ is an exponential factor with cofactor L(x, y) = 1. Moreover $\beta = 1$, $L \circ \tau = 1$ and $G(G \circ \tau) = e^{2y} \notin \mathbb{R}$. In view of Theorem 3(iv) we have that I = 2y - 2t is an invariant of the polynomial vector field.

3. Preliminaries

In this section we state and prove some auxiliary results that will be used in the proof of Theorems 1 and 2. The statement of the next proposition is well-known, for a proof see [7, Theorem 8.7].

Proposition 6. Consider a polynomial vector field X and let $F_i = 0$, G_j for i = 1, ..., r and j = 1, ..., s be invariant algebraic hypersurfaces of X with cofactors K_i and exponential factors of X with cofactors L_j , respectively. Assume that

$$\sum_{i=1}^{r} \ell_i K_i + \sum_{j=1}^{s} l_j L_j = \lambda, \quad \lambda \in \mathbb{R}.$$

Then $F_1^{\ell_1} \cdots F_r^{\ell_r} G_1^{\ell_1} \cdots G_s^{\ell_s} e^{-\lambda t}$ is an invariant of the polynomial vector field X.

Proposition 7. Consider a polynomial vector field X and let τ be an involution. Let F = 0 be an invariant algebraic hypersurface of X with cofactor K. The following statements hold:

(i) If X is τ -reversible then $F \circ \tau$ is a Darboux polynomial with cofactor $-K \circ \tau$.

(ii) If X is τ -equivariant then $F \circ \tau$ is a Darboux polynomial with cofactor $K \circ \tau$.

Proof. We will prove both statements together. Taking into account that XF = KF, we have

(1)
$$\tau_*(XF) = \tau_*(KF)$$

Using that $\tau^{-1} = \tau$, the right-hand side of (1) is

(2)
$$\tau_*(KF) = (KF) \circ \tau^{-1} = (KF) \circ \tau = (K \circ \tau)(F \circ \tau).$$

On the other hand, using again that $\tau^{-1} = \tau$ and that $\tau_*(X) = -X$ if X is τ -reversible, and $\tau_*(X) = X$ if X is τ -equivariant, we have

(3)
$$\tau_*(XF) = \pm (XF) \circ \tau^{-1} = \pm (XF) \circ \tau = \pm X(F \circ \tau),$$

where + stands for τ -equivariance and - stands for τ -reversibility. Using (2) and (3) we have

$$X(F \circ \tau) = \pm (K \circ \tau)(F \circ \tau)$$

So $F \circ \tau = 0$ is an invariant algebraic hypersurface with cofactor $\pm K \circ \tau$. This concludes the proof of the proposition.

With the same proof we can also prove the following proposition (the proof is omitted).

Proposition 8. Consider a polynomial vector field X and let τ be an involution. Let G be an exponential factor of X with cofactor L. The following statements hold:

- (i) If X is τ -reversible then $G \circ \tau$ is an exponential factor with cofactor $-L \circ \tau$.
- (ii) If X is τ -equivariant then $G \circ \tau$ is an exponential factor with cofactor $L \circ \tau$.

4. Proof of the main results

In this section we prove Theorems 1 and 3.

4.1. **Proof of Theorem 1.** Let F = 0 be an invariant algebraic hypersurface of a polynomial vector field X which is τ -reversible. In view of Proposition 7 and statement (i) of Theorem 1 we have

$$X(F \circ \tau) = -(K \circ \tau)(F \circ \tau) = -K(F \circ \tau).$$

Therefore

$$X(F(F \circ \tau)) = XF(F \circ \tau) + FX(F \circ \tau)$$
$$= KF(F \circ \tau) - FK(F \circ \tau) = 0,$$

and so $F(F \circ \tau)$ is a polynomial first integral. Statement (i) is proved.

On the other hand, in view of Proposition 7 and statement (ii) of Theorem 1 we have

$$X(F \circ \tau) = -(K \circ \tau)(F \circ \tau) = (-\alpha + K)(F \circ \tau).$$

Therefore

$$\begin{split} X\Big(\frac{F}{F\circ\tau}\Big)e^{-2\alpha t} &+ \Big(\frac{F}{F\circ\tau}\Big)\partial_t e^{-2\alpha t} \\ &= \frac{1}{(F\circ\tau)^2}\Big(XF(F\circ\tau)e^{-2\alpha t} - FX(F\circ\tau)e^{-2\alpha t} - 2\alpha F(F\circ\tau)e^{-2\alpha t}\Big) \\ &= \frac{e^{-2\alpha t}}{(F\circ\tau)^2}\Big((\alpha+\bar{K})F(F\circ\tau) + (\alpha-\bar{K})F(F\circ\tau) - 2\alpha F(F\circ\tau)\Big) \\ &= (\alpha+\bar{K}+\alpha-\bar{K}-2\alpha)\frac{F(F\circ\tau)e^{-2\alpha t}}{(F\circ\tau)^2} = 0, \end{split}$$

and so $Fe^{-2\alpha t}/(F\circ \tau)$ is an invariant of X. This concludes the proof of statement (ii).

Let F = 0 be an invariant algebraic hypersurface of a polynomial vector field X which is τ -equivariant. In view of Proposition 7 and statement (iii) of Theorem 1 we have

$$X(F \circ \tau) = (K \circ \tau)(F \circ \tau) = K(F \circ \tau).$$

Therefore

$$\begin{split} X\Big(\frac{F}{F\circ\tau}\Big) &= \frac{1}{(F\circ\tau)^2} \Big(XF(F\circ\tau) - FX(F\circ\tau) \Big) \\ &= \frac{1}{(F\circ\tau)^2} \Big(KF(F\circ\tau) - KF(F\circ\tau) \Big) = 0. \end{split}$$

and so $F/(F \circ \tau)$ is a rational first integral of the polynomial vector field X. Statement (iii) is proved.

Finally in view of Proposition 7 and statement(iv) in Theorem 1 we have

$$X(F \circ \tau) = (K \circ \tau)(F \circ \tau) = (\alpha - \bar{K})(F \circ \tau).$$

Therefore

$$\begin{aligned} XF(F \circ \tau)e^{-2\alpha t} + F(F \circ \tau)\partial_t e^{-2\alpha t} \\ &= XF(F \circ \tau)e^{-2\alpha t} + FX(F \circ \tau)e^{-2\alpha t} - 2\alpha F(F \circ \tau)e^{-2\alpha t} \\ &= e^{-2\alpha t} \big((\alpha + \bar{K})F(F \circ \tau) + (\alpha - \bar{K})F(F \circ \tau) - 2\alpha F(F \circ \tau) \big) \\ &= (\alpha + \bar{K} + \alpha - \bar{K} - 2\alpha)F(F \circ \tau)e^{-2\alpha t} = 0, \end{aligned}$$

and so $F(F \circ \tau)e^{-2\alpha t}$ is an invariant of X. This concludes the proof of statement (iv) and concludes the proof of the theorem.

4.2. **Proof of Theorem 3.** Proceeding as in the proof of Theorem 1(i) using G instead of F we have that $X(G(G \circ \tau)) = 0$ and so

$$\exp\left(\frac{f}{g}\right)\exp\left(\frac{f\circ\tau}{g\circ\tau}\right)$$

is a first integral. Taking logarithms we conclude that

$$\log \left(G(G \circ \tau) \right) = \frac{f}{g} + \frac{f \circ \tau}{g \circ \tau}$$

is a rational first integral. This proves statement (i).

Proceeding as in the proof of Theorem 1(ii) using G instead of F we have that $X(G/(G \circ \tau))e^{-2\beta t} = 0$, and so

$$\exp\left(\frac{g}{h}\right)\exp\left(-\frac{g\circ\tau}{h\circ\tau}\right)\exp(-2\beta t)$$

is an invariant. Taking logarithms we conclude that

$$\log\left(\left(G/(G\circ\tau)\right)\exp(-2\beta t)\right) = \frac{g}{h} - \frac{g\circ\tau}{h\circ\tau} - 2\beta t$$

is an invariant. This proves statement (ii).

Proceeding as in the proof of Theorem 1(iii) using G instead of F we have that $X(G/(G \circ \tau)) = 0$, and so

$$\exp\left(\frac{g}{h}\right)\exp\left(-\frac{g\circ\tau}{h\circ\tau}\right)$$

is a first integral. Taking logarithms we conclude that

$$\log \left(G/(G\circ \tau) \right) = \frac{g}{h} - \frac{g\circ \tau}{h\circ \tau}$$

is a rational first integral. This proves statement (iii).

Finally proceeding as in the proof of Theorem 1(iv) using G instead of F we have that $X(G(G \circ \tau))e^{-2\beta t} = 0$, and so

$$\exp\left(\frac{g}{h}\right)\exp\left(\frac{g\circ\tau}{h\circ\tau}\right)\exp(-2\beta t)$$

is an invariant. Taking logarithms we conclude that

$$\log\left((G(G\circ\tau))\exp(-2\beta t)\right) = \frac{g}{h} + \frac{g\circ\tau}{h\circ\tau} - 2\beta t$$

is an invariant. This proves statement (iv) and the proof of Theorem 3 is completed.

Acknowledgements

The first author is partially supported by the Agencia Estatal de Investigación grant PID2019-104658GB-I00, the H2020 European Research Council grant MSCA-RISE-2017-777911, AGAUR (Generalitat de Catalunya) grant 2022-SGR 00113, and by the Acadèmia de Ciències i Arts de Barcelona. The second author is partially supported by FCT/Portugal through CAMGSD, IST-ID, projects UIDB/04459/2020 and UIDP/04459/2020.

References

- [1] A. Campillo and M.M. Carnicer, Proximity inequalities and bounds for the degree of invariant curves by foliations of $\mathbf{P}_{\mathbb{C}}^2$, Trans. Amer. Math. Soc. **349** (1997), 2211–2228.
- [2] D. Cerveau and A. Lins Neto, Holomorphic foliations in CP(2) having an invariant algebraic curve, Ann. Inst. Fourier 41 (1991), 883–903.
- [3] J. Chavarriga, H. Giacomini and J. Giné, An improvement to Darboux integrability theorem for systems having a center, Appl. Math. Lett. 12 (1999), 85–89.
- [4] C.J. Christopher, Invariant algebraic curves and conditions for a center, Proc. Roy. Soc. Edinburgh 124A (1994), 1209–1229.

- [5] C. Christopher, J. Llibre and J.V. Pereira, Multiplicity of invariant algebraic curves in polynomial vector fields, Pacific J. Math. 229 (2007), 63–117.
- [6] G. Darboux, Mémoire sur les équations différentielles algébriques du premier ordre et du premier degré (Mélanges), Bull. Sci. math. 2ème série 2 (1878), 60–96.
- [7] F. Dumortier, J. Llibre and J.C. Artés, Qualitative Theory of Planar Differential Systems, Springer Verlag, New York, 2006.
- [8] J.P. Jouanolou, Equations de Pfaff algébriques, in "Lectures Notes in Mathematics," 708, Springer-Verlag, New York/Berlin, 1979.
- [9] R. Kooij and C. Christopher, Algebraic invariant curves and the integrability of polynomial systems, Appl. Math. Lett. 6 (1993), 51–53.
- [10] J. Llibre, Integrability of polynomial differential systems, in Handbook of Differential Equations, Ordinary Differential Equations, Eds. A. Cañada, P. Drabeck and A. Fonda, Elsevier, pp. 437–533, (2004).
- [11] J. Llibre, C. Stoica and C. Valls, Polynomial and rational integrability of polynomial Hamiltonian systems, Electron. J. Differential Equations, vol. 2012, no. 108, 6 pp.
- [12] J. Llibre and X. Zhang, Darboux theory of integrability in Cⁿ taking into account the multiplicity,
 J. Differential Equations 246 (2009), 541–551.
- [13] J. Moulin Ollagnier, Polynomial first integrals of the Lotka-Volterra system, Bull. Sci. math. 121 (1997), 463–476.
- [14] J. Moulin Ollagnier, Rational integration of the Lotka-Volterra system, Bull. Sci. math. 123 (1999), 437–466.
- [15] J. Moulin Ollagnier, Liouvillian Integration of the Lotka-Volterra system, to Qualitative Theory of Dynamical Systems 2 (2001), 307–358.
- [16] M.J. Prelle and M.F. Singer, Elementary first integrals of differential equations, Trans. Amer. Math. Soc. 279 (1983), 613–636.
- [17] D. Schlomiuk, Elementary first integrals and algebraic invariant curves of differential equations, Expositiones Math. 11 (1993), 433–454.
- [18] M.F. Singer, Liouvillian first integrals of differential equations, Trans. Amer. Math. Soc. 333 (1992), 673–688.

¹ Departament de Matemàtiques, Universitat Autònoma de Barcelona, 08193 Bellaterra, Barcelona, Catalonia, Spain

Email address: jllibre@mat.uab.cat

² DEPARTAMENTO DE MATEMÁTICA, INSTITUTO SUPERIOR TÉCNICO, UNIVERSIDADE DE LISBOA, Av. Rovisco Pais 1049–001, Lisboa, Portugal

Email address: cvalls@math.tecnico.ulisboa.pt